10?

10

Ratio to Pythia 6.428 350
[N

o
ol

L L DL L L
AQ (ttbar) (Mtt < 450)

—f+— Pythia 6.428 350
---&-- Pythia 6.428 351
--¥-- Pythia 6.428 352
----- A+ Pythia 6.428 353
--0-- Pythia 6.428 354
| --*-- Pythia 6.428 355
= £t Pythia 6.428 356
— Pythia 6.428 357
- Pythia 6.428 358
~ --=-- Pythia 6.428 359

7000 GeV pp Top (parton level)
LA L B B B

|
Rivet 3.1.10, = 3M events

mcplots.cern.ch [arXiv:1306.3436]

e

= - Lq_,,.

% -v,_y_v,_v—v,.vyJVyvvvyvvvvvv

- *
. f’é‘x”‘#444*4*44444*444444#444**4&444 ¥¥ T

‘Aéﬁ &fﬂﬁﬁéégﬁﬁkﬁéﬁﬁégﬁ Y YTV M

Y (BN . SO B RAL . SN [

N

0.5



	Contents
	Page 1


